] 2 HE B O Ok (2 N LERBSNERFTSE DRIk (2B)JIKA BHMFE  8:00 = 714
s & THIGEIAI5H) SI6FEE e[ £E FE3IA A
E-2-3 : 4= x
)8 BIRIEE 5oy D500 FFE ks FFE s2s B x2seow 9 *ﬂ6ﬂ59ﬁ165(ﬁ *R)
BloE o |2 |6EE % = |BEE % 15| = o B
ABEE)| | 1|B5ER L A|R[19 206] [4]0F B W —| |7|@[s # & & |26 0 = r=h = 4/\ X3 A
1| 7= | |2|@54n x @)% 18 Bls | = 3 &[S 24 of 16 h — El_.l 2 RR H:H F]:[
1,65 mB m |3|@F ® & ¥ |15 6|@m # F * 2848 688, 400 HJ =
?L\ oEH 1.479.000 | -
= & =
R |28# 225 1,630 2HE 5~2 4,430 2;;; zig;gggg ‘j: :l’(:llra:“(’ JI:I I\*q: :E —-/7
o by — 5 — Y ~D o~ R ' ! —=ll— oo . o
g% ;:E%'i 2:22(?0 2,750 __ 3EE 5~2~6 25, 560 4K 769, 900 ,_E = HimSE RBK: 400m ALLER: 548m T4 [LE™
. %&(ﬁé—) e ;;;g L. ®i':_674<390ﬁ T ;*E 29v369~4°g CERIEHTEAORE., FREEEO( & YEa<v—IL TS,
1 0.9 = : .21, N Bz |2# % X%[_, —Z[zHBLN 2 \ =) o=y A
Y it 1 e T 4 0 i I one | =2 [CENWT. 2B 2B EDOEFIEICEVERFADTITEFELLESLY,
1L65mE ™ |3QE B F A |1 6@ B 1 K 2 Bl 735,000 g
m 2EE 1, 206, 200 .
= = . 31 2, 478, 300 BEE18 5 (LR 4 RO
i 2% 3:6_» 5, 740 2%H 6~3 7,730 5 22, 657 400 HEH L sl 4 7 A :Ft’]j RTY. _
o zfri ?277020 18,220 - 3EH 6~3~7 71,940 74 K 825, 000 i:,,— S Tlini:_4 s ADRAZ— MERONIEEL., KBEEORAIZTIFEIHTT,
R =6 1, 627 2, =7 840 &t 27,901, 900 = e = 48 /3w “ & TS :
A R [1]O]R & Z|®122 2061] |4]|@B @ =] 70 m B *| |2#A& 0 & BK[iﬁLﬁlrﬁwﬂﬁg/\.{OZ}kJaﬁé ~ jj?@@,bf‘@ﬁ?j—" .
3| 7=z 2|@r EF Rl xX|%|2% 5@k & % E[s8 24 0 ;”: OX¥IBYHE. 2R BEEF. B, RBDEIRZ. OFERE. #ikR(B5 LMY)DBEIEZRLET,
1L625mE ™ |3 Dth A B M |18 6l®m £ ”- — 2 548 T100) e . \ \
0 2 zz 12 !33;7 900 =2 ;I OXEZDMDEHRTHRERLNENDZENBHYET  Ff-. RELL—ROEBARELEE T, LT HIEAHYET,
o 3; 536, 8 E—— . i} _ .
= 2%m 627 5380 2EE 76 5,950 ol Keyion 9 | OMBLEREBAITELVESITRILRETEE L A.  ORRBHLE CHIBRFOUELIHTELBYET.
? 3:&E#E 12627 8, 840 3EH 7~6~1 29, 360 SEEN 806, 500 N o | OBBLRDICH--EHONERR, BEROCIRERELET,
B[O re=7 1,510 127 1,260 126 930 at 27,207,000 9T
A FR(EE) 1@E i ## th|ZE(122 2190|S |(4|Q®|F & F W |(7/@HE & & *| |[2##K 0 ~ = ; AT Bl A AE
0.9 = 2 _ 2l E|e| b Flaonpn| B |2 —,lilﬁkﬁ T Rl _RYF s|B AT [E] Al i~
4| 7= 2|0% & %2 8v|+s 5|/ & E & 2t 0 i; L—2A & &5 ’”’"m% S st IMMORRNBEGE I B M R L A& TR
= ER 4 o ¥ A ? B|SB
1.625mE ™ |3|OF & & K |15 Bl6|@%k M B B ii’i 1;132288 i’JJ— E||1®E| 2 3 EESE m[1113.92) | 815100 2(6]|17|EE 352 % 3?8
" : , 235, 5% 2l@|z| Al = 525 | 71(3.92 04 10lojo1|o|o|REEE 2] '
1h — 3EE 2,242,700 FEﬁ @Ewl A "f‘;& =3 IL.\ *T E b : 617 _037 F2 @RE 6 5 1 ® 59.0
z 2% 6227 1,590 2HH 6~7 3,020 s 24 975, 500 g g o 13le)H Al -f“* g2 wRssjL 3| 96(3.92[ | 4 68.9310(0|0|3[3]|0|2E £ 18 A EH
i | 3 EE 12627 340 3EH 6~7~1 4,590 94 K 725, 400 < F—ii% R e
. s = 67 INEER
B ok e=7 210 126 170 =7 170 aF 29,195, 200 A 4@F i;‘: 18 5 NS F 8% . 360]0/0]8/2]0]0F "8 6 2 5
NROEED)] | 1|67 &  B[W[119 21965 4|91 @ R € 8|70k B # ] |2RE of A M| [DIOPUG K FE AE[0E W M%), Pyl 14l 1]4]6]F Rez e
5| rex | Cl2lom & mors| 16 slof & & 2 fyi R I 5 R el L0l - S ] R 2 Y ogl0lofTo[1fo[EE HETE
e mB m|slele o2 2| |18 slolg B ® 2 i 603, 900 1.625m |
2EE 1,404, 000 B _
i 3 2,159, 400 9 w826 | (eEEII)
R |28%E 226 1,840 2HE 6~2 4,000 " 25 965, 800 7 267830
& |3 2=4=6 5. 950 3EE 6~2~4 17, 820 94k 646, 500 4
&5 S oo — = ~= ST =
74 F 2226 570 426 2,010 224 1,500 4% 30,079,600 %ll] Ols[ A B = x/sE wesls e, B2T61]5]2]3]6][RE 229 ® 910
A REED], |1 |OFIAR & Z[&[119 2183 B[4 O & |7]6[8 & A B |2RE 0 | 2 ol A PPy s TTo o sl TolrF e s @ 70
6 Fur | Clzl@m & z|o|iw slole ® & 2448 0 m A R il s, B S — el T e
1.6255mEZ| m (3|04 & #H E| |25 6@l W E 0 2E#% 510, 100 é = F—fg 3 3|7 SE:, H splo2i 48| 69)3.931% | 4 2935|0]0]2/2]6/0 F2 % %’vg 2 * EH
n 2 1. 440, 100 e Aelw A% T m mbilE W sl 5.6 olof4]7]ofo|BR E292
th — _ 3@ 1,729,100 . N A — : =
i 2i§1~—: . ‘;‘:g Ziz““ 2, 660 3EE 25,980, 300 J,t 2 ) IO b LA —[56% 1] 613 934 4 9,1[000]35[1]|0|BF B353
z | 31& 242 3EHE 1~4~5 8, 740 s SE[EE : I y ]
HE e S5 oak _wmow {T A L O BE w38 [o o o]0 o 0| EaE £ 2 ¢
= = =5 140 At 0. 40800y 1.625m (Ololel AL R = snlarie m| sofs o2 5,0 1s]2]s]ofa|4|BEESDS
A BGEE)],,|1]0[= *  B|R[116 21748408 B E —| [7]|0x & ® % |28 0 L PO 8 o = 22 228 e
7| 7 [“2l0x # ® v 15 slow o & 2 of f= (7 E37)
1,625mE M |3|@= @ KX 1 |65 6@k B B M 2;@ 447, 200 C FE8:50
2EH 1,146, 100
$h . oot %l | AT, E e . B 70, 45 2 ¥ 10
E|l2x=#E 125 180 2HEH 1~5 180 2§§ 2;’?23‘288 i E 105 i% X /] A FRBE | 983927 70393 416[3/0[3]8[Fsmors % 3?8
?;i 3B 12425 850 3EH 1~5~4 1,680 94 K 297, 900 | A& 2[9% 3_?:'7”*1 F S[MF ) 603.69)6]6 %34 1/0]0]0]3[4|FExm 5 & 4 ® 500
B r 125 190 124 300 4=5 760 &% 23, 466, 300 —d_ ol 3@ e dg g2 MI1139]6)5 mE1]o]62|7|0[BE 385 * =M
L = | AZLLT AT — = =
° = 4@%95,"?*?%"3 e —[54E | 63392 | 69.9810 0|1 |2[7|0|EZal 25 5
v /)
b AE iy B g2 H[113392]6|S P332 110]1)4]2|62 & %5 uem
MREEGRITERTELOMTAYET, PECHEETORIBOSBHRTEM CHBLAEN TS, w| PR | (Gl E B & msm B B9l 3800300 1[BEHISS
s »620m | A [P P4 5 70.47 F2 B F
JSBEERTRLESATEYEY, /SROMF(A- AL MASET, R 005 il B B b B TR el AUICIEIRIEITIEY = 4 ¥i
gxon0 | (72D




2t I R A

>+
s

off

|mf

) o Al

) o Al

F

32

i

W I R A

— [ =lew s ] 8 | = SERR__ & =] RUFE [s|s TR -
L—2 Elglhin & F B S8R0 ¥V a4l sslan=[EBEE] 1]  sicoms R (FH)
A|7E2 Ui s 73.94 F2 /A8 5 3 2
1®E|37 R L A2 #11313.92) 5 %23 |3|1]0[0[3]|9rem ms® 7 g 12?8

R e . F2 F 522 ’
A 2080e "'m E —HF % 659, T2810(0(6|2[1]|0|F muxm 5 5 4 ® 680
! AR 745 65. 83 F2f #8756
3Bk 3= 34K BR|121(3.92 112(1]0]1]3 A4
FiER FiE A 18 el AR . 222 P23 26 2 2
4@|5 4% B K posmz] es30,]y 65,98 01| 1|1[0]|3|BA"ES S 2
5o Ak Be #h thF Em[079,|o 55031 9] 1] 0] 05| E TEF S
(SLERIEE) 6@ﬁ ME 3 fm thuE | 853925 S 65,990 0|0|o|o]o|Rm & X8 TAmM
1,625m | A77T 3ha% _ P2l 5 2@ 6
@t § 5 2 PR E 69398, 28 0]o1]2]|0fo|BR EET S
#E109:26
F3E9:30 (7 83D)
RN |0 e B . F2 B8 fE
1®E'é: MK HEE H(1113.86) 5 3819 0| 1]0]1]10[F Ba 2 S ] g 12?8
VAL - . F2 /MBS ’
A el [E[[5 "] 93925/ q Taal7lol3lo]2|8lnR RS Sk ® 6.0
" NEEES _ 68. 16 ik 27 3 4
3B SO | 74|3.92 ojoft|1]1|o0 A E 10
FiER Z3IA B K J413|® 153 F2 {£iHR 6 5 1
roE A B = mE w| el ff Bl 1|1]3]4]|2[BEaE Y S
5ol AlE s m 5 K| 573.93(% g T4.4ololo|9|2|o|BE £33
BE[EE N5 39 - —
(96“@@6@@9%3 = o7 48 98[3.92| 5, 67,4712 0| 2|0]0|5|RE ES 5T
1,625m o AL L o 69, F2f & 3QL
D35 M 2= FI4EE K| 853925, ?23%003180in§m6?2
#5409:46
sxos0 | (7B
NEEEDS _ 70.79 RE %365
- 6 BRI R Al 2000/ 0/0/0/0[8[0|p&E Wisas g e
A 4 22A0 "B = 8 =i |2 633 6(21]0[5|6|BE X198 ® 660
" A’Mi Wy _ ] F2 E
FER 33F 5 £ 45 shp9mRI| 953.93) 419 7_258(7) T 7(3]4( 1 u|géé A 24
b9 3ven 3K
Ao AE " = o 8 19392, 67,8513 0(1(0]|2|5(F il = & 2
5o Al T mliE m| 083925 | g B olal6]7|7|2|E2 2234
(SEEBER) TR 7 F2 7L
6@ﬁél’% E R gl g 163371, , 64820001 |1|o|o|BERE Z 2 2
1,625m 2 A?J"H Yank + ‘ . F2# A 5 7 1t
ol i s B mEsm M 683w,y 00010/ 0] 2] 0] 1]0|E Bl S & &
#54010:06
se10:10] (7FL)
N S 7144 F2i )il 4 Q@
7 ER SN T o A Wlolo[+[a[s[1[EZ R13% o 2
A (DL £t s = B| B . F2 ¥ BN '
A 5 2R S pAE & Z 4R R 4392 g |93/ 1]2]6|12|E s S0 0 ® 1410
! At 2t - B 78. 90 F2@t i1 DL
3@ 2|= E[125(3.92 5l4|2(0(1]|7|55% A1
F iR P R B R 21 1.000 2 # 100
A@(= AR B o gBE #6738 4]0 .95 1]3]2|1]|0|RE & 1S
565 4L 19 52[125(3. 02| B|S8 1991 713(1]0f2|9|EEEE 138
<908 5Tt g AP 1 g2 [o[os[s[25E 2
],625m 2 Aﬂllﬁ v iy — . F2 F 2
@*33'4:' (ol FEP2E K| 693.93] 5] 7.532% 0[1]3|8[1]0]rx JIIS%?
#54010:26
se10:30] (7FD)
- BISEY 5T FRITEFI0D ~ - E—=2JG#E HMBEZ SRSk~

-BEEFCBASKBLBECE. T Dh—FOL—REES - KAZ THEELLESL,

- BEZEZHENASRI. FEY - EERELTEELIEEL.

- Fr)ARITSHTHEH., BEPOLBRBIEOESFT CBATEET,
CARZMAHh ! Ry TETEBVEDECEEL,

KEFOBAF20RIZHE>THD, BWMITBEECELAFL L.

SERORMERA

-LRBH in B2
AVAN=I% /®'—=24(FII)
10A3B(X)-4A(&)-5H(L)

. MW in E5
LERSIYISAXEF 1)

10A148 (A -H)-158(X)-16H(K)

-LR5E in B
AVAN=D% /®—=2%5(FII)
10A198(L)-20B8(H)-21H(A)




